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pr(¢0) [GeV] FElA B 2 A4 A @m\m m 2 0
0... 2 /0.002170 43|27 14 12 025 15 14 1.8 011 040
2.. 4 10002283 25|15 077 092 009 064 13 080 0.02 0.09
4.. 6 |0.002437 23|14 075 038 003 064 13 045 0.01 0.05
6.. 8 [0.002592 23|14 078 071 003 040 14 045 0.08 0.18
8... 10 |0.002830 24|15 080 079 0.04 049 13 051 0.07 0.02
10... 12 | 0.003030 25|15 083 11 0.05 046 13 057 0.08 0.02
12... 14 | 0.003062 2.6 |17 091 083 006 057 13 0.65 0.05 0.10
14... 18 | 0.003198 26|14 074 11 008 052 14 066 0.07 0.33
18... 22 10.003591 25|17 08 083 0.09 033 12 081 0.04 0.11
22... 28 |0.003747 26|16 082 088 014 054 11 10 0.07 0.02
28... 52 10.00453 23088 050 013 027 039 092 1.8 017 0.03
52... 160 | 0.00717 44 097 052 039 068 096 058 4.0 059 0.11
160...1000 | 0.02049 48|20 13 004 037 33 082 22 037 032



